B \R BT RENSE TG (B RIS TR HH64E 5 188 (1)
Frx

o & B &t E i = & b fE z B £ B

m B = R O%

() ART=®) (M) (M) (M) (kg)

WA 35.3 ERE 35.3 940 — 648 12 A
IZALA 27.2 K B 19.5 1,944 — 1,836 10 L
ZIES5 3.3 BRE 2.5 2,808 — 2,700 0] A M
ZIES5 5 05 - 3,240 — 0] A 2M
[E<ELY 31.1 ERE 23.8 2,160 2,052 1,944 15 A 6
HTE 1.4 BRE 0.5 1,944 1,728 1,080 4f A M
ZED 5.4 2 [ 3.6 1512 1,404 1,296 4f A M
FrRy 138.4 ERE 100.1 2,160 2,160 1,728 0] A 8
FrRy =0 335 — 1,296 - 10 B 8
IE5NAZES 3.5 BRE 1.9 3,024 3,024 2,808 4f A M
h#E 13.9 BRE 8.7 1,296 972 864 3l A L
hE 1.7 i B 1.3 3,240 2,592 2,592 3 M
_hE 2 [ 0.2 2,916 — 2,592 3 L
125 3.7 ElG 1.6 3,240 1,890 1,890 5] vay
+)L)— 0.9 2 0.6 3,780 — 3,564 0] A M
T RAINSHR 0.6 B A 0.5 130 — 124 0.1
Hh)o257— 0.7
Jowal)— 10.0
LARZR 37.2 E & 22.6 2,484 1,728 1,404 10 12
FoTYA 1.7 BRE 0.7 1,944 — 1,728 4f A L
=5l 18.5 BRE 10.7 1,728 1,296 1,080 5/ A L
=p5Y ElG 7.6 2,160 1,728 1,566 5] A L
ANESSED) 15.4 - 7.2 2,160 1,404 1,404 10 vay 7
ANESSES) BRE 24 2,160 — 2,052 0] A 6
Y 7.2 EES 5.7 - 2,722 — 8
Y = I 1.1 1,944 — 1,836 5/ A 3L
k2 18.1 EES 10.9 - 232 — 0.5 4
k< BRE 6.6 2,160 1,944 1,728 4f A M
I=kTh 6.7 BRE 6.1 130 108 97 02 A M
I=RTh RS 0.5 1,944 - 1,620 3 van
E—<> 13.9 BERE 13.1 5,184 4536 3,564 7.8 A M
ES5HACL 3.9 BRE 2.9 1,825 1,825 1,285 5/ A
T35 0.9 BRE 0.9 140 140 119 008] A M
[2H5Y 3.5 BRE 3.4 2,160 1,296 1,296 3l A L
SPVAITFA 0.8 BRE 0.8 2,160 1,620 1,620 2l A
SPZAES 0.1 =l 1,404 — 1,296 1 B L
E—X =I5 - 6,480 — 4l A M
ZTHEDH 0.1 BRE 0.1 — 2,268 — 4f A M
MhALL 47 N 3.6 2,160 1,944 1,836 5 LL
IEhLs 428 E 5 39.8 2,376 2,268 1,728 10 vay 3L
[ECTRYNS £ B 2,808 2,754 2,700 10] vay LL
IEhLs EEES 1.7 2,808 — 2,700 0] A L
[ESARYONS FEES - 3,024 — 10 A LL
f=Fh&E 78.5 JtigE - — - PR
f=Fh&E = B 76.0 2,592 2376 2,268 20 va9 L
A1z 1.0 "5 & 0.3 - 1512 — 10 B M
5oELD 2.8 BRE 2.8 5,400 5,400 5,076 0] A M
ELLV=T 2.0 BRE 0.1 — 108 — 0.1 A L
HELLV=IT =l 1.1 130 130 97 0.1 A M
ZDEET 6.0 = 1.4 32 31 26 0.1 A
LHL 2.3 2 [ 2.3 92 - 84 0.2
ESES T 550.0
B=

o fm B & E th = E hfE =7 & £ B

m B = O

() ATT=®) (M) (M) (M) (kg)

BINAMDAET 0.7
INGRH DA 0.7 i B 0.7 - — - PR L
INGRH DA kB - 3,240 — 1 vay M
INDRFH A & B - - - PR S
HEDHHA 3.0 BIR 3.0 — 2,268 — 10 A M
LEY 2.3 TA)H 2.2 10,044 9,180 9,180 17 115
INLUYVT 1.7 TA)H 1.7 8,748 8,640 8,100 17 88
L7y 0.3 TA)H 0.3 6,156 5,832 5,832 15 48
YATE 12.6
oaF3)Lk 1.1 5 & 1.1 7,344 6,480 6,480 10
AL 10.4 5 & 10.4 5,076 — 4,860 12
U 0.4 E 15 0.4 - 2,160 - 8 el
3HET 0.1
3% 0.1 2 [ 0.1 756 — 702 03l ¢ LL
58 0.9 =l 0.6 4,320 — 3,780 5/ A L
SESE 0.3
F5917F 0.2 & [d 0.1 - - - R LL
F5917F 2 [ 648 — 605 0.25| 742 L
To9x7F B2 [ - - - PR M
W5 3.4 BRE 2.6 378 302 281 025 A LL
AO2EF 42
7—ILA 0.7 =l 0.1 - 3,240 — 8] B M
F7—ILA N - 5,400 — 8| #4937 3L
AH3 0.2 = I 0.2 3,888 — 3,780 5 5
FDAOY 3.2 BRE 1.9 — 2,160 — 5/ A LL
ERRYOY1s 10.2
ERRY 7.8 EES 7.8 7,560 7,128 6,480 13 vay LL
CEETLVH 24 BRE 1.3 — 4644 — 0] A 6
INFF 12.8 EYEY 11.7 3,996 3,456 2,722 15
NAFyFTIL 46 EYEY 4.6 3,024 2484 2,484 10 8
FoA4T)LY 40 —T 40 4,860 4223 4223 5.8 30
BERE 64.9




